
Fig. 1. Leaves number affect of combination of solid organic fertilizer and liquid organic fertilizer
	
	


Fig. 2. Leaf area affect of solid organic fertilizer (a)  and liquid organic fertilizer(b)





	
	


Fig. 3. Chorophyll content and NR affect of combination of solid organic fertilizer and liquid organic fertilizer
	
	


Fig. 4. Yields and Harvest index of Brassica affect of combination of solid organic fertilizer and liquid organic fertilizer




                Fig 5. Relationship between NR and Yield

solid - liquid 1x	85	88	90.3	solid - liquid 2x	86.9	89.2	93.3	solid - liquid 3x	87.4	89.9	94.6	1= solid 0- application liquid 1x, 2= solid 10 t.ha-1 - application liquid 2x, 3=solid 20 t.ha-1 - application liquid 3x


Harvest index (%)





0.91	0.92	0.93	0.93	1.81	2.13	2.75	3.05	3.51	6.92	13.25	16	18.829999999999998	20.25	23.75	25.54	27.03	29.79	NR (µ mol NO2.hr-1  )


Yield (kg)



solid - liquid 1x	7.9	11.5	12.9	solid - liquid 2x	9.1	11.9	13.2	solid - liquid 3x	9.8000000000000007	12.2	13.3	1= solid 0- application liquid 1x, 2= solid 10 t.ha-1 - application liquid 2x, 3=solid 20 t.ha-1 - application liquid 3x


Leaves number




115.11	154.33000000000001	208.44	1=solid organic fertilizer 0 t.ha-1, 2= solid organic fertilizer 10 t.ha-1,  3= solid organic fertilizer 20 t.ha-1


Leaf area (em2)



144.11000000000001	160	173.78	1= application liquid fertilizer 1x, 2= application liquid fertilizer 2x,
 3= application liquid fertilizer 3x


Leaf area(cm2)



solid - liquid 1x	0.24	0.41	0.6	solid - liquid 2x	0.28000000000000003	0.42	0.61	solid - liquid 3x	0.34	0.49	0.84	1= solid 0- application liquid 1x, 2= solid 10 t.ha-1 - application liquid 2x, 3=solid 20 t.ha-1 - application liquid 3x


Chlorophyll (g.g daun)




solid - liquid 1x	0.91	0.93	2.75	solid - liquid 2x	0.92	1.81	3.05	solid - liquid 3x	0.93	2.13	3.51	1= solid 0- application liquid 1x, 2= solid 10 t.ha-1 - application liquid 2x, 3=solid 20 t.ha-1 - application liquid 3x


NR (µmol NO2. g-1)




solid - liquid 1x	6.92	18.829999999999998	25.54	solid - liquid 2x	13.25	20.25	27.03	solid - liquid 3x	16	23.75	29.79	1= solid 0- application liquid 1x, 2= solid 10 t.ha-1 - application liquid 2x, 3=solid 20 t.ha-1 - application liquid 3x


Yield(kg)




